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J| 651
< 195
Al 456
307 glz2tol & 1,302 1,302 0
J| 651
< 195
Al 456
02 It M AHEE 1,302 1,302 0
OFHS0ldFAHN HEZAY X (1405)
9,300& 1405 1,302
J| 651
< 195
Al 456
HEE NI 2 1,255,271 1,560,047 A 304,776
= 92,400
< 16,800
Al 1,146,071
HUHXIe SHEHE I3 1,255,271 1,560,047 A 304,776
= 92,400
< 16,800
Al 1,146,071
X 2ot & otdpte] 58 23,271 23,847 A 576
201 Let24dy] 20,563 20,563 0
01 At 22/l 5,260 5,260 0
Oget=gH| 5,260
— 2ot R AR KRSEAN S22 MNA
2003 2,000 *23| 800
UL PR 1 3,920
EAHE WA (L) 50,0002 *40H 2 *33] 600
EHIE WA (U)
110,000& *4JH 2 x33] 1,320
S22 HHEZs 22 M
200& =5,0000H 1,000
XIS g 228 MZE 200 +5,000% 1,000
— FARYER AZUHHA EI 7L
2,000 5401 2~ *53| 540
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AN s
M s NS 22
Sl HUXS HFE B3 (29l & 2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 15,303 15,303 0
OdzHl 303
—SFASYS SHLAA ANEWHH RFIU(HL
2 ) 1,870 32| Ef x540 & 13| 303
OAl& & Hl s X bl 15,000
—ATHMNUHUXAIE SX2H(HLE S)
15,000, 000& 14! 15,000
202 O4dl 2,708 3,284 A576
01 = LH 4 Hi 2,708 3,284 A576
O0UXIZES, AHMUUX f3E5 £ 39
& 225,600& x2H «33| 1,354
OJA AR 8,587 & 282 € UF
e 225,6003 x2H +33] 1,354
SMUUHXHERE XJAS 300,000 300,000 0
308 XX EHH SOl A 300,000 0 300,000
07 X HH2LESE S 300,000 0 300,000
OM)=sMiUXH A 223
300,000,000& =14 300,000
SADIA B2 750,000 1,000,000 A250,000
402 RI2EXt20l ™ 750,000 1,000,000 A 250,000
01 A=A EX 750,000 1,000,000 A250,000
OZANIAEES EXAY K&
750,000,000 » 14! 750,000
NEIE JbAAEMNE XIJA 126,000 225,000 299,000
= 92,400
Al 33,600
403 MtXISHHE X201 & 126,000 225,000 A 99,000
= 92,400
Al 33,600
02 SO 2SOHHEHAHE2 X HE AL B 126,000 225,000 299,000
OKNEE JFAANEINE X3A
231,000 5000t 7 115,500
= 92,400
Al 23,100
ONMBIE JHAHMEXI(EIHOIHZE) ES A (A
ctEE NEAY) 50,505& 297 2t 2 x70% 10,500
ATHEHUHX E5 XA 56,000 11,200 44,800
< 16,800
Al 39,200
402 RIZEX20| A 56,000 11,200 44,800
< 16,800
Al 39,200
01 It AL B X 56,000 11,200 44,800




2N
X ZH -
L= B

el

gt NS0 2el
12 ™ B3

= _ — d =
SA - B (SH) - MRAY - BYS e 2
OMTHHH UK ES =X & ALY (400t +)
56,000,000& =14l 56,000
=) 16,800
Al 39,200
HY2FZH (=4 67,595 63,083 4,512
Jl=Ztl(s4a) 67,595 63,083 4,512
2zl (s&n) 67,595 63,083 4,512
201 LEt2A | 23,274 20,634 2,640
01 AtR 22l | 23,274 20,634 2,640
Oger==EH| 16,890
—JIE2MNFESHI 100,000& 19X 1,900
—SAMSX 7Y 20,0003 x102f A +123 2,400
— SAII =4Hl § s
500,000 »3CH *12 1,500
—SAI &8 2 330,000 *3CH x4 3] 3,960
—SAJ EH P2 150,000 »3CH 43| 1,800
—diodEEH EH #E
237,000 »5CH x4 2 4,740
— WA EH #Y 110,000 »2CH »23 440
—Jl2¥A83| 150,000& * 13| 150
O=etl 6,384
— S22 0 A 7,000& x19E »42|«12& 6,384
202 O4Hl 40,541 38,669 1,872
01 S LHOIYI 40,541 38,669 1,872
OsUAAAD EX L0
20,000 «19H +83| x 128 36,480
Osgate SetAY =& 22 0l
225,600& 3 +62 4,061
203 YR =2t 3,780 3,780 0
04 EA2IYRFLH| 3,780 3,780 0
Osg et 350,000& = 12& x90% 3,780




